Name	Date	Pd
[image: ]
[image: ]
[image: ]
[bookmark: _GoBack]
image1.png
1 Mul
different real numbers?

F (@a+b)+tc=a+(b+c)
H. (ab)c = a(bc)

Why is this statement false?

le Choice Which statement is false when 4, b, and ¢ are

G. ab = ba
J.a-b=b-a

2. Four students used Percy’s expression to calculate the number of
border tiles needed for a pool with a side length of 6 feet. Which
student performed the calculations correctly?

Stella |
B8+46-1)=8+24—1
=31 tlles
i
Takashi I

B+a6-1)=12+(6-1)
=12+ 5

Hank
B+a6-1)=8+45) |

-

Jackie

B+ 4(6-1)=12(6—1)
=12(5)
=60 tiles
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3.

Here is one way you might prove that 2(s + 2) + 2s is equivalent to
4s + 4

%) s +2) +25 =25+ 4+ 25
@ =25+ 25+ 4
[6) =@+2s+4
“4) =ds+4

‘What properties of numbers and operations justify each step?
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4 The work below shows one way to solve 100 + 4x = 25 + 7x.
100 + 4x =25 + 7x
(1) 100 + 4x — 4x =25+ Tx — 4x

100 = 25 + 3x

@) 100 = 25 = 25 + 3x — 25
75 =3x

(3) 75+3=3x+3
25=x

@ x=25

a. Based on the Properties of Equality that we learned about,
which of these properties can be used to justify each step?

b. How can I check to see if x = 25 is the answer? What is this
property called?

5. jome steps are missing in the solution to 11x — 12 = 30 + 5x.
11x — 12 = 30 + 5x

1lx = 42 + 5x
6x = 42
x="17

b. How can you check that x = 7 is the correct solution?




